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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-bosk. _
Cutting or filling two or more circles will result in zero mark in that question.

Social interaction is based on : = : g_:.lfi.d‘lfﬁa}w 1.1
Culture b (B) Socia!_;"gr@gp i b (A)
Social change J3jw (D)  Mobilitys e/ Bl ()
Minimum persons required for a group : ‘ ':I"(LE?’L,?;%::l)i(’;ff.;_i-io;f 2
Five 44 (D) Fourse (©)  Threesd @) Two s (A)
Who introduced secondary group : J_.:‘j : _ f q‘_,l,/...i.zwi_;/;u%y"& 3
Comte =/ (D) Maciver £ (C) "‘w;be}ﬁ, @  Cooley LS (A)
Socious means : _;"’ i r;‘i' ey |4
Interaction J¥ (D) Study ~b* (C) ’ Grouﬁhfei.f;mﬁ:f (B) Culture =& (A)
Which status is ascribed : ‘;_,-; :fﬂ E, P Ui |5
Player $5¥ (D) Queen Jf{C.) fji_;_*é;octér 15 (B) Caste =15 (A)
Formal norms are : T f e |6
Status <+ (D) Values JI# (C)  Mores bis> (B) Laws £15 (A)
Standard of good and badare : : ug;y»{él4;;13u§f 7

None of these /e i) (D) Mores s (C) Values /81 (B) Norms =i (A)

Use af technalegy is common in : : ..;..t‘:rrt;dtf'ff‘l{&:fb{? 8
Utban society  UsoSbeObat (B) Traditional society o PGl (A)
Nomadic society (‘s b+ Jixst (D) Modern society o besne (C)

Who said culture is social heritage : : .g.rt(ﬁ»&}b»;)@[{i_uf 9

Summner # (D) Linton uy (C) Tylor F (B) Marx /s (A)

Violation of social norms is :cI_JJ;;.JﬂéJ.:,U;f"S/"b» 10

Role Ji»/ (D) Deviance 7 (C) Sin »¢” (B) Crime 2 (A)
( & Q)



(2)

Administrative social institution is : ; .f_..ubfg];'bub,».is}rid 111
Educationai’u‘.'.GJ (D) Political 5~ (C) Religious (% (B) Family gixe (A)
Social change is slow in : D et fbe (12
Rural society (2o ba§er (B) Urban society ufa}l.v&l,»& (A)

Modern society U ~b-s 4 (D) Traditional society U4 ~+G /s (C)
Change in social status is : PPN L
Cultural change Z3% (B) ©  Social change Zlfe (A
Stratification 42 (D) Social mobility (zke/7db+ (C)
The most important factor of social change is : : 4_4;5(7'4.._.‘4/538;&- 14
Discoveries u;:jg;: (B) Inventions <agh, (A)
Ethnocentrism =«<* (D)  Formal education (2';;53 (C)
Joint family is common in : t < PBLL A6 S |15
Industrial society uh}w&’” (B) Agriculturajsociety uﬁ;}'lw&) (A)
Urban society Ju/‘bfa',,dz (D)  Modefn society S flese (C)
Employment is responsibility of : : ?»,{5;!),»50‘"‘1)&?)» 16
Political institution JsisL (B) Eamily St (A)
Religion S il (D) Economic institution (a5 b+ (C)

In which social class income is less * : .;.Jm_"g}ﬁuﬁg»é}b»u/ 17
All of these rL?,: (D) Lower B:l (C) Middle <L+» (B) Upper J‘I (A)
Probation officer serves in™ : q;_L?,;i'i('i/aLx&/éTﬁ:{ 18
Hospital Jiz= ) College ¢ (C) Court =)is (B) Jail JZ (A)
The pragfical form of status is : : «.;_.J’éul'{fw 19

cadle =15 (D) Class =#iz (C) Role w8 (B) Position (i (A)
Positive sanction is : D el ed 20

Abuse € (D) Warning £/ (C)

13

Fine <l.2 (B) Clap yYt (A)
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( Part-l J3) 4sas )
16 2. Write short answers to any Eight ( 8 ) questions : :é.:::l..b?/ﬂd:&w:’ (8) #1 Jﬁ/ -2
(i) Give two examples of membership group. A en$0 /G ()
(i) Write down two examples of formal group. -5..//‘-%9”’ o IS (ii)
(iii) Which discipline is studied in sociology? S b K SU ELE (i)
(iv) What is the basic role/duty of a sociologist? e P EEL T (iv)
(v) Describe four steps of sociological research. -E Y SR S SF (V)
(vi) Define probation officer. ,é...éjﬂ}’/.{'fﬁs{ (vi)
(vii) What is meant by theoretical sociology? ?‘a.:!/l[c...-.»yl/&gﬁ (vii)
(viii) Give two examples of physical interaction. -2?::;;:’&»»&)‘@&w (viii)
(ix) Write down four forms of social interaction. J&%t&;}ﬁbg;{&ﬁf}}@ (ix)
(x) Define social action according to Talcott Parsonss ..é..gﬁg{f&flr&’ﬂr& 7 e (%)
(xi) Explain ecology. _ZE =S5 (xi)
(xii) Who was the founder of modern soc':g,oiogjy? L ) | _ S| &LK;QV¢J; (i)
16 3. Write short answers to any Eight('8 ) qf;éstibhs_ :‘. i :é‘cbylﬁ/‘?ﬁaﬂlr (8) 2T & J; <3
(i) Define achievedstatiis. ki . A"’—{-“’/’.’.\.fu‘"‘dm (M)
(i) Define rolegconflict. By _Zf - /J._aa«v(f':w (ii)
(iii) Write twoystatus and its role from .,5/ fu.«-“ﬁ(&ub:fu#»c- b /LvdL-fL (iii)
Pakistani society.
(iv)oDefing folk ways. Sy P Secnd (i)
(v) ‘Write two functions of social norms. " G{/j‘....v U’JJJZuU}F d Sl (V)
(vi) Write four positive sanctions. L -éfj_,w” =il (Vi)
(vii) Write the functions of law. L LBk Bl YIE (vil)
(viiiy Write two economic causes of deviance. -é vg;gmﬁ Lv»d/_jlf'l (viii)
(ix) Define social control. _é..éy?uq::h(};b» (ix) g
(x) Define social value. «z:--sf/“"&j&/" o (x)
(xi) Write two characteristics of nomadic society. LE 7L Pl onl (Xi)
(xii) Define modern society. _EE 5 s (xi)
(&i5)
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18 4. Write short answers to any Nine ( 9 ) questions :
(i) Define cuitural relativity.
(i) Narrate relation between society and culture.
(i) Write four benefits of ethnocentrism.
(iv) According to structure, write types of family.
(v) Define educational institution.
(vi) Write two functions of political institution.
(vii) Define caste’
(viii) Write steps of social change.
(ix) Write two social changes in Pakistani society.
(x) What type of mobility the migration is?
(xi) What are the rewards of position of respect?
(xii) Write determinants of stratification.

(xiii) Define class.
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( Part-I1 f4- dna )

Note : Attempt any THREE questions.
10 5. Discuss the fields of sociology.

10 6. Secondafygroup isithe product of modern
industrial societies. Give arguments.
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10  7..Elaborate, ‘Why the LBE oo S L s AU SAS sl SPHL e foe
individuals of society are attracted towards the behaviour of deviance?

10 8. Describe the functions of family.

10 9. Write the factors of cultural change.
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